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Quadratic Calculator Tip Activity

Goal: The goal of this activity is to help you understand how your calculator can
help you the most when solving or graphing quadratics.

Directions: Use your calculator to fill in the questions below to help get more
familiar with the calculator and solving/graphing quadratics.

y=
You can use “y = “ to help you with so many things dealing with quadratics.

1. If you are graphing your quadratic, you can type it into y =’s in order to get a visual of

your parabola. T,

Nou Hot:-: AITE
e You might need to adjust your window to see the W BZR -3K+4
parabola and we will this later.

e Hit GRAPH to get the visual.
e 2" GRAPH to see all the points on your parabola.

Y=

e WINDOW to adjust your window, especially if it is a
word problem.

e 2" TRACE to find specific characteristics of the
parabola. (discussed later)

e ZOOM 6 will go back to your standard default -10 to 10 on both axes.

2. i you are factoring your quadratic, you can use y = to find all the factors of the product
of your a-value and c-value. This should help you figure out which one will add to give
you your b-value. 5 SR AT —

B Fleti Plot2 Plot2

~N o BlG S H

e This is the X method. Top: product of a and c. Bottom: :ﬁ;f

b-value sides are found on the table of your calculator.

e Typeintoy = [(a)(c)]/x

e Then hit 2" GRAPH to see the table of values that
make this equation true.

e This is where you can find the correct side values that
also multiply to give you the top of your X and the
bottom b-value.




;“a PRACTICE: Use the above two parts to help you factor to solve these two problems. Assumey =
0 when solving. Graph it using y = to check your answers from factoring to solve, use y = to help
you fill out your X when factoring, adjust your zoom or window, and create a table of points
that lie on your parabola from your calculator’s table. Draw a sketch of your graph on here too.
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This is used to find exact characteristics of your graph.

1. Once you have typed your equation into y =, you can use 2
TRACE to find specific characteristics of your graph:
e Value
. Zero
e Minimum
e Maximum

e |[ntersect

e wove

2. VALUE: This helps you find a specific y-value when you have a specific x-value. You type
in an x-value and hit enter. Your calculator will immediately .- ..
give you the y-value and show you where it is on your

parabola.
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- 3. ZERO: This helps you find the zeros/roots/solutions/x-intercepts of your parabola.
Sometimes there are none, one, or two possible zeros. Identify first which zero you are
trying to figure out. Then you need to go left of the solution, hit ENTER, then move the
cursor to the right of the solution (use the left and right arrows to move the cursor), hit
ENTER, then move your cursor as close as possible to where you believe the solution is
and hit ENTER for the last time. It should give you the coordinate for the root you were

looking for.
¥1=-2Hz-3HeY ?1:-232-3'?{\ L i
2 2&Fd
Ridhk Eound? GUgEs? T =
L BN 2.y sppggg  HE-LBINBSY [v=zuiteus? ¥=-1.91uB9Y [v=zuiioysy #= 2350781 [y=0

e |Fit gives you an ERROR MESSAGE, you probably did not go left and right of your
root correctly.

4. Minimum: This is similar to finding the zero, but this time you are finding your vertex
coordinate. It is important to know if your vertex is a minimum or maximum to know

)

which of those two options to select. Your a-value is positive.
e 2" TRACE
e Minimum
e Left of your vertex, hit ENTER
e Right of vertex, hit ENTER
e Guess where your vertex is, hit ENTER Hinimium
e You should have the coordinate e R
5. Maximum: This is similar to finding the zero, but this time you are finding your vertex
coordinate. It is important to know if your vertex is a minimum or maximum to know
which of those two options to select. You’re a-value is negative.
e 2" TRACE
e Minimum
e Left of your vertex, hit ENTER
e Right of vertex, hit ENTER
e Guess where your vertex is, hit ENTER Hméimum
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e You should have the coordinate




- 6. Intersect: This will help you find where two graphs intersect. So this is most useful with
systems of equations or finding answers for real-world
problems.

e Type both equationsintoy = r
.2 And : ;

* Thenhit 2™ TRACE . . RELERSENT ros zomuzrs

e Choose INT ERSECT

e It will say FIRST CURVE, move the cursor as close to the intersection as you can

e Hit ENTER
e |t will say SECOND CURVE, move the cursor again, but the other graph
e Hit ENTER

e Then it will say INTERSECTION, move the cursor as close to where the graphs
intersect as possible

e Hit ENTER

e |t will then give you the coordinate for the point of intersection between the two
graphs. Some graphs will have more than one point of intersection
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PRACTICE: Use the above parts, 2 — 6, to help you find key characteristics for the two problems
bel ow. Graph it u sing y = and then locate the value when x = 2 and — 2, the zeros, the
minimum/maximum coordinate. Then graph both together and determine if the graphs
intersect. If yes, provide the point(s) of intersection. Draw a sketch and label your key
characteristics of your graph on here too.
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This is where you can adjust how your graph looks to better
answer questions.

1. The window defaults to -10 to 10 on both axes. There
will be real-world problems that you might need to
adjust the window to see the entire parabola or at least

key parts of it.

2. If you or someone else has used your calculator and changed your wmdow you can
reset it back to “normal” one of two ways. '

e You can reset your entire calculator by hitting:
22717

e ZOOM 6: which is ZOOM STANDARD

PRACTICE: Write quadratic equations for the two word
problems below. Then use y = on your calculator to graph your

_— two equations. Then adjust your window so you can see the
entire quadratic and write your new window dimension under the problem.

1. Aplot of land for sale has a width of x ft., and a length that is 8ft less than its width. A farmer
will only purchase the land if it measures 240 square feet. What value of x will cause the farmer

?,:.O to purchase the land? ng_ %>= 240 X-
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e width 15 208t menThe farmer will buy

2. The length of a rectangle is 5 inches more than twice a number. The width is 4 inches less than
nC the same number. If the area of the rectangle is 15, find the number . r A
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